iﬁ*é%%‘i?m%%ﬁﬂ- S (R EA ) AL 0 B e B S PR
2 HEH (- )L M Y 1EIF 308 FgoA AL

10.

11.

(=) &i% FZ?‘A}’}‘@;F F|de o
(2) i mE I 2BaLilEsdtp o

ERLax+by+c=0>FERF TR BiFitR® LidiFH= %27

(A)a=0>bc<0 (B)ac<0:bc<O (C)ab<0->bc>0 (D)ab>0:ac<0
|—\/_1 a)——( 1+\/§|) v Z1=1 0 Zne1= WZyHi o NON > EA 224\@;’f5|]fag‘?
(A) w (B)i (C) w+i (D)o -
& an= (n+1)+( +2)+( +3)+( +4)> nON- @B T F kit P H & Fr 7
v v » 15
(A)<a,>7 135> 2425 10 B)<a,>7 & L7 Sy
Y AL v 1 Y AL v 1
C)<a, >z & v #7| > 41"‘.5*5 (D)<a,>% & Hcr] > o LEE

W AT EAE (1) (3:5) (7°9-11)> (13-15-17-19)> ... » %K $ n# (4 n B ##)
é‘f?‘ﬁlﬁé’f%]f?—ﬁ?

(A) 2n+1 (B)h+3 C)n*-n+1 D)n*+n+1

ZFX) =X - -1x-4> gx) =x*+ 23 +5x+ 2B B 2 F58 5 dX) 0 2R NG mx) o

PO F (0 +a0) g =d(¥) > 3#K T F e ¥ 1 FE 2

(A) degd() = 1 (B) degm(x) = 5 @MJ%U@ (D) P Lri— h
L 2X+3zlﬁvﬁ;;@;g;wqf—a~+ﬁ?
(A) {x|x=2 & x< -5} B) {x|x=-52 x#2}
(©) {x]-5<x<2} (D) {x|x>2# x<-5} -
o° - 47 = 3081312
LRl FERXY) s T AR K ?
" {5“ &' = 400000 <) o

A) 04) ® G) ©) (25 OICRONE

® P 54 AABC ehvhw > £8P 5| BC,CA,ABFIEM 0 4 XyZ> K X1y Zz2 5 T 5lin % ?
(A)sinA:sinB:sinC  (B) COA : coB : coL (C) tamA : tarB : tanC (D) cotA : cotB : cotC
cosR7C + 8)tan(L8C — ) cot(L8C + )

el B TARE Y
sin@0° - 8) tanG4C - 6) H Ie s
(A) sind (B) co¥ ()0 D)1 -
R AR 2rsik =X F R B dE TR 0
(A)O (B)1 (C)3 D)5 -
# K sin20cos70 +sinl0sin50 2 f& 5 ™ 7 4 7
1
A — B) — C)0 D)-=
()4 ()4 ©) )3



12.3#&3(\/—) E;Tiljlv’?—f?
(A) 1 (B)- 1 (C)i (D) - |
X=3+4
13, X120y 202 0 s iR gl T 5539
2 2 1
z=-1+2
(A) L =L, (B) L/L, CL LsERR DL L3-8 -
14. 58K = e g 5 2 2
(A) B:(a,b,c) xdht 2 HF 5 (a,b,0) (B) B:(a,b,c) texy T w + 2 H R 5 (a,0,0
(C) B (abec) Tl xyT & 2 FEH L ¢ (D) B:(ab,c) I xihz FEHE Z Jb*+c* o
15. 4= B > ABCDEF & - & # i#7) R TAw E P ff 7 o+ ?
E D
F C
4 B
(A) AB- AB (B) AB-AC (C) AB- AD (D) AB - AE
16. Xk A~B-~C53T 6 F A £Mch=4p R8> BLP;% L AP=2AB+AC * @ AP BC 2 ** R » 28K (A CPR 5
)+ (AABRDS fi) —i'E’_ﬁrT"J'F”%Z ?
(A)2:1 (B)3:1 (C)4:1 (D)5: 1
17. szglzy;’l: 2_12 » ke Si(x-1) +(y-4) +(z-0°=17> FE T AP K S E ?
(A) L& sipr (B)L¥E S%* gt (C)LE S 2 (D) L& S * - ME o
18. X B A x+my-m=02 [ x*+y?-x=04p 3> A~ B3 8> F AB=1 > FER m2 @ 5T 3l]f€’ﬁ ?
1 2
(%) 2 @5 ©2 (D) -2
10. = B R pFd SumkIk g S04 B BMEE 20
(A) 360 (B) 720 (C) 1440 (D) 2520 -

20.

21.

22.

23.

40
KB (a,) ik La =1% 1L BE %50 aﬂ+1=an+% NG R ER Y a 2 BT AR ?
k=1

A) @ (B) @ (C)430 (D)210 -

R A (3x —2y) LS XY el TR 2

(A) -6048 (B) 6048 (C¥3024 (D) 3024 -

A BFEYKLAOBHBE N OBEH > I EY 3BA G R P Y R - A BE R
4 ﬁ‘»i* WP Y G SV ?

CExClxCh

(A) cE+cEeCs (B) =
(C) c+cPxci+CcPxc? (D) CEBxClxPixPPxpf o
2 2 2 2
%‘SFFB sk *%L_.l wm P 7]2&‘;\2 X_+y_:1g'—h]§];[§;;:, (X+1) _y—:]_m@]q A ;I—Si B2 E‘E.(?
9 4 16 9
(A) 1@ (B) 2@ (C)3 D)4m -



24, B Y My =8 B M x-2y=247T§ chix K 3T AR K 0

(A) 40 (B) 8J5 (C) 4/30 (D)50 -

25. % F 105 (x> y)hFa - S=4>5=2> 2 4ah fhdicr = 0.8° 3R y # x gt fFH i fFaans LT 5
.’aﬁ ?
(A) 0.4 (B) 0.64 (C) 0.8 (D)1 -

26. fEk AP A K88 EKF 2005 A v o A 3008 AT 0 F - EEAD 4 10%0 4 T EF] A AR
H 4 90%* 5 0 @ A A ELF 20%4 T DA A H AR B0%E F 0 AR AF 90 & Kenk vl A H4F TS

A9
(A) 2327 + (B) 2407 + (C) 2607 * (D) 26873 + -
3X—2y+2z=16 3 —2 2 16 1 —1 a —2
27. B = & 484 2X—y+4z=18 S R A 2 =1 4 18|, grpemiiet 0 1 B 22
7X—3y+2z=26 7 —3 2 26 O 0 vy 3
’éFHT ;1 3 ;‘ﬁ ;; :gi
(A) a=2 (B)B=8
(C)y=-1 (D)3% ™ 2o 'V 5 wjz o
28. 3¢ A(2,1,1)B(0,1,2)C(2,3,1)=8 &K U0 ZBA-B-CH B2 a5
511.’???

(A8 (B) 4 ©)a 5 @5 -
(2a+b+c)x+by+cz=0
29. % > friey) aX+(a+D+c)y+cz=0 § x=y=z=0¢enfg > FE T 7R ;ﬁz,}
ax+by+(a+b+2)z=0
(A)a=b=c (B)a+b+c=1 (C) a+b+c=0 (D)a~b~cz 24 E -
30. £x>0>y>0 " X+2y-2 <0 2X+y—-2 <Ochif 2T » FF X+y b < @5 T e ?

\rmL
~0

4 2 1 3
A3 (B) 73 (O3 D)5 -
RS EEBRE(-) 213 PP ¥ 3L F 408 S AP Lo
(=) "I BEAL 2 B9 34 - BEAL L/ FIES 2 Edc T BEA 2
MEHFHPI2IALAB FE- BERAVE-LL B LB BULER T LL

() w2 mEsn 2BELMErfo+p -

3L ARMEEUAF (Do F T AL ARIF) ML (F2F PR EAY FAY) wE 0 0 AF3LE
F]90& (7 £) ¢ > FUldsE Ay * 7
GV B) = (S (D)Ed BEx=+ -
2. Mz N () =acC+bE+ex+d=0> EE T A AETRE B 1 FEen ?
AfX¥=02">73 - F1
B)f(X) =02 "3 - 47 &9
C)Ff(X=03 - 1+i>Rle3 -3 1-i
D)Fa>b>c - ddZr f()=0% - $21+/2 > Bl F - 112
(E)#a>b>c -dOdZ A f(x)=0% "% - 7
33. & logx=-5.6789> &R T | vRit 1 Fr ?
(A) logx irg B,z -5
(B) logx & # % 0.6789
CO)xehig ] #cBis % =~ 4 M3 5 0 e F
(D) Iogx:ﬂaa— w,a B F 5 4
(E) logk e — =5 »c#cx 5 2 o



34. AABC ¥ » i% BT 5|52 3REI VI A - 2 9
(A)a=5>b=10 OA =30 (B)a=4-b=4+3 > OA=30
(C)a=2+3 > b=2y2 » DA=60 (D)a=3>b=5>c=8
(E)a=4>b=3>0A=30 -

35.@ b 0 C LZBES R 0 ERT F|UNA AL O
(A) (?ﬁ)?::@ﬁj (B)a0Db > bOc »planc
(C)2ab=0>Ala=0&Db=0 (D)% atb =alc > Al Db=c
. _;2 _;2
(BE)|a||b alb °

36. AR B AT 3 B endcit T F| R oy 9
(A) T FlF-T6ajpfl 3 RT3
B)FL Ls- BEFAR L, Ly - ZFARPL, L7 E- BEFAR
CFimLE TR EiLa PRl ZEMLT T e TG ELE

D) FTREZERLINWPEITHE 3AFERNFEPEHIIMN 27 > MHIRNLETrELENPE
(E)4-™ B > & L“%%_"ABCDEFGH“ » P> Qo RAWE EFY 8> BIPQUQR  °
D C
e
A~ B
|
L VA
A
E 0 F

37. F e avp- LT BT O8x=10 BH £ S =3 ¢ #M, =12 %M, =8 » = A =1 IQR=3 -
Fy=-dx+3>0 FREITT R yD T 0 T AL LD
(A) & 5T to8c=43 (B) 4 £ =-12 (C) ¥ i #ic=—4s5 (D) ki —32
(B)w &~ ix%=12 -

38. BB P (s ) R RATEER S BT L BRI ERTRIAR LI RNELLE 0 R
p ©
»

10603, 24 » H e 4240 @24 8 R 0 B A & 95%:12 KT 5 T FEIEORE L E
(A) 22 % R 0t 6] 5 40% (B): f 345 4B A8
C)r A5 3BF AL (D) 47 % ¥ % [ 037043
(E) 2 47 % 7 5 [ 043046 -
1 1
39. %k A'Bi-%# e wP(A)=" "P(B)F=73 VRERN T A& E IR Y o R B R
17
1 3 3 .. 5
(A P(ANB)==4 (B)P(A[B)="4 (C)P(B[A)==4, (O)P(A|B' F4
.5
(BE)P(B' A4 -
40.% a* b ci T F#c ¥ 2at+b+c=3 FER T Flbcit Rt 2B 9
A) abe e % (5o B) 20+ 2+ -Cciod ) i % 2
()acm<9_1256 (B) 2a”+ T G
, 1 1 ., 1 2 1,3 . .
© % a:l’bZT’CZTB?%’abC)aﬁxﬂxg;T (D) a + b + o g B s 12
2 1,9 |
(E)a+b+cm§xlx§_p12°

% 47



Bl A Fﬁ“ﬁi Hlﬁﬁwﬁﬁ F‘ HI’/fi*’ﬁEE%?fﬁii’ ORI ARE r[iak %Nfr?‘;:ﬁii
1 C 1 C 1 B 1 C 1 B
2 B 2 B 2 D 2 D 2 A
3 D 3 D 3 D 3 B 3 D
4 B 4 A 4 B 4 C 4 B
5 B 5 D 5 D 5 B 5 C
6 A 6 C 6 A 6 D 6 C
7 A 7 D 7 D 7 D 7 D
8 C 8 B 8 B 8 B 8 B
9 D 9 A 9 A 9 D 9 C
10 B 10 B 10 C 10 C 10 A
11 A 11 A 11 A 11 B 11 A
12 B 12 B 12 A 12 D 12 A
13 C 13 C 13 D 13 A 13 D
14 C 14 C 14 C 14 D 14 C
15 D 15 C 15 D 15 B 15 B
16 A 16 B 16 B 16 C 16 C
17 B 17 C 17 C 17 A 17 C
18 C 18 D 18 C 18 B 18 B
19 C 19 B 19 D 19 A 19 D
20 D 20 C 20 B 20 C 20 A
21 B 21 C 21 A 21 A 21 B
22 D 22 D 22 B 22 C 22 C
23 A 23 A 23 C 23 A 23 A
24 C 24 D 24 A 24 A 24 D
25 B 25 D 25 B 25 A 25 D
26 D 26 A 26 C 26 D 26 A
27 A 27 B 27 D 27 B 27 B
28 C 28 D 28 C 28 D 28 B
29 B 29 D 29 B 29 C 29 C
30 B 30 A 30 C 30 A 30 D
31 ACD 31 BC 31 BCD 31 BCD
32 BCD 32 ABD 32 BDE 32 ABC
33 ABC 33 AD 33 CE 33 BCE
34 ADE 34 DE 34 ACE 34 BCD
35 ACE 35 AC 35 ABCDE 35 BC
36 ACD 36 BDE 36 CDE 36 ABE
37 ABC 37 BE 37 CE 37 BCE
38 BCD 38 ABE 38 ACD 38 ABC
39 ABE 39 ABC 39 ABE 39 ABCDE
40 ABDE 40 ABC 40 ABE 40 BCD
CAE NI S

AT

: 01/05/22




